m Model No: MS2810
rrlill Rl Gt

21

E15 &
=
\_ st
Q. 3\ 22
) <
|
7

%

Page1/6



Model No: MS2810

V/17:7,dbd;

78

5

»

S
g O_a - @@

«KQ
(o]

/%

7

%

<
o0]

Page 2/6



m Model No: MS2810
rrlill Rl Gt

‘lagm@
W

: \"
m_;
2
& @@\;\
= N
I (@]
5
P

=N,
B
\ /

N

\

100

109 &

a

121

105 g\
<D
s

Page 3/6



'II!!’ AI!!!'a

Model No: MS2810

Parts List

ID Part No Name Qty Notes

1 ok ok ***  Click for Technical Bulletin Y04421
2 ok i ***  Click for Technical Bulletin YO6172
3 rrk s ***  Click for Technical Bulletin Y06152
4 ok ok ***  Click for Technical Bulletin Y06152
5 rrk ok ***  Click for Technical Bulletin Y06152
6 *rk Fork ***  Click for Technical Bulletin Y04421
7 6253502600 OUTER SNAP RING 1

8 6258500001 CLAMP WASHER 1

9 6258503600 RECEIVE WASHER 1

10 6253501300 SPACER 1

12 *xx ***  Click for Technical Bulletin YO4695
13 = *xx ***  Click for Technical Bulletin Y06267
14 rxx **x  Click for Technical Bulletin Y06267
18 *** rkk ***  Click for Technical Bulletin YO5771
19 6271001001 SHAFT PIPE COMPL 1

20 rokk ***  Click for Technical Bulletin Y05604
21 rkk ***  Click for Technical Bulletin Y04024
22 *xk rkk ***  Click for Technical Bulletin Y04333
23 ok ***  Click for Technical Bulletin Y04333
24 ok ***  Click for Technical Bulletin Y06152
25 0031430000 INNER SNAP RING 1

26  ** ok ***  Click for Technical Bulletin Y06584
27 0600109970 BALL BEARING #6200DDU 1

28  ** ok ***  Click for Technical Bulletin Y06152
29 ok ok ***  Click for Technical Bulletin Y06152
30 6202006000 BOLT ASS'Y 1

31w *xx ***  Click for Technical Bulletin Y06152
YA *xx ***  Click for Technical Bulletin Y06152
33  F *xx ***  Click for Technical Bulletin YO3637
34 6272002002 CLUTCH DRUM COMPL 1

35 6272003000 CLUTCH 1

36 5315505000 CYLINDER COVER 1

37 5317500700 PLUG COVER 1

38 M rokk ***  Click for Technical Bulletin YO3577
39 5311007000 CRANKCASE COMPL 1

40 5311501200 CRANKCASE GASKET 1

41 ok ok ***  Click for Technical Bulletin Y03692
42 ok ok ***  Click for Technical Bulletin Y03692
43 ok ***  Click for Technical Bulletin Y06152
44 5315504100 DAMPER 1

45 5316503100 DAMPER 2

46 5317010030 PLUG CAP 1

47 5317010020 COIL 1

48 5317010010 FLYWHEEL 1

49  xxx *xx ***  Click for Technical Bulletin Y06152
50 ¥ *xx ***  Click for Technical Bulletin YO03692

Page 4/6


https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y04421-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06172-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y04421-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y04695-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06267-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06267-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y05771-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y05604-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y04024-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y04333-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y04333-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06584-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03637-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03577-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03692-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03692-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03692-WW-1.pdf

'II!!’ AI!!!'a

Model No: MS2810

ID Part No Name Qty Notes

51 5313502300 INSULATER GASKET 1

52 ok ok ***  Click for Technical Bulletin YO3577
53 5313500500 INSULATOR 1

54 ¥ el ***  Click for Technical Bulletin YO3577
55 5242500100 PISTON PIN 1

56 5242500800 PISTON 1

57 ¥ *xx ***  Click for Technical Bulletin Y06152
58 ¥ A **x  Click for Technical Bulletin Y06152
59 *rk **y ***  Click for Technical Bulletin Y06152
60 5315012000 REWIND STARTER 1

61 5245007000 PULLEY STARTER 1

62 5315007010 REEL 1

63 5315007020 SET SCREW 1

64 5415003020 SPIRAL SPRING 1

65 ok ***  Click for Technical Bulletin Y06152
66 5235024022 STARTER ROPE 1

67 ok ok ***  Click for Technical Bulletin Y06152
68 ¥ ok ***  Click for Technical Bulletin Y03275
69 6272500000 WASHER 2

70 ok ***  Click for Technical Bulletin Y03517
71 0016606160 BOLT M6X16 1

72 Fxx bk ***  Click for Technical Bulletin Y06152
73 Fx* *xx ***  Click for Technical Bulletin Y06584
74 0062610060 O RING 1

75  Fx* *xx ***  Click for Technical Bulletin Y06584
76 rxx **x  Click for Technical Bulletin Y06584
77 0032006000 SPRING WASHER 1

78  *** Fkk ***  Click for Technical Bulletin Y06152
79 0119059630 SOCKET HEAD BOLT M5X20 2

80 0140059790 SCREW M5X25 5

81 0119059670 SOCKET HEAD BOLT M5X55 2

82 ok ok ***  Click for Technical Bulletin Y06152
83 ok ***  Click for Technical Bulletin Y06262
84 ok ***  Click for Technical Bulletin Y06152
85 ok ***  Click for Technical Bulletin Y06152
86 ¥ ok ***  Click for Technical Bulletin Y06152
87 ok ok ***  Click for Technical Bulletin Y06152
88 ok ***  Click for Technical Bulletin Y06152
89 0610089990 NEEDLE ROLLER BEARING 1

90 ¥ bk ***  Click for Technical Bulletin Y06152
91 W *xx ***  Click for Technical Bulletin Y06152
92  *xx *xx ***  Click for Technical Bulletin Y06152
93 W *xx ***x  Click for Technical Bulletin YO3859
94  wxx rxx **x  Click for Technical Bulletin YO03590
95 Wk rkk ***  Click for Technical Bulletin Y03590
96 ¥ rkk ***  Click for Technical Bulletin Y03596
97 *xk rrk ***  Click for Technical Bulletin Y03596
98 rkk ***  Click for Technical Bulletin Y06262
99 0119059900 SOCKET HEAD BOLT M5X12 1

Page 5/6


https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03577-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03577-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03275-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03517-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06584-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06584-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06584-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06262-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03859-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03590-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03590-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03596-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03596-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06262-WW-1.pdf

'II!!’ AI!!!'a

Model No: MS2810

ID Part No Name Qty Notes

100 5316021000 CARBURETOR 1

101 *** ok ***  Click for Technical Bulletin Y06152
102 *** *xx ***  Click for Technical Bulletin Y06152
103 *** el ***  Click for Technical Bulletin Y06152
104 *** prick ***  Click for Technical Bulletin Y06152
105 *** prx ***  Click for Technical Bulletin Y06152
106  *** *xx ***  Click for Technical Bulletin Y06152
107 *** A **x  Click for Technical Bulletin Y06152
108  *** **y ***  Click for Technical Bulletin Y06152
109 5036002010 JET 1

110 *** rkk ***  Click for Technical Bulletin Y06152
111 *** rkk ***  Click for Technical Bulletin Y06152
112 *** rkk ***  Click for Technical Bulletin Y06152
113 *** ok ***  Click for Technical Bulletin Y06152
114  *** ok ***  Click for Technical Bulletin Y06152
115 o+ ok ***  Click for Technical Bulletin Y06152
116  *** ok ***  Click for Technical Bulletin Y06152
117 *** ok ***  Click for Technical Bulletin Y06152
118  *** ok ***  Click for Technical Bulletin Y06152
119  *** ok ***  Click for Technical Bulletin Y06152
120 5236052030 WASHER 1

121 5313503200 AIR CASE CLEANER 1

122 *** *xx ***  Click for Technical Bulletin Y06152
123  *** *xx ***  Click for Technical Bulletin Y06152
124 5313015000 AIR CLEANER PLATE ASS'Y 1

125 0140059730 SCREW M5X50 2

126 0031104000 WASHER 1

127 0150049980 TAPPING SCREW M4X8 1

128  *** rokk ***  Click for Technical Bulletin Y06152
129 x> rkk ***  Click for Technical Bulletin Y06152
130 *** rkk ***  Click for Technical Bulletin Y06152
131 5243501400 SPARK ARRESTER 1

132 5313500600 MUFFLER GASKET 1

133 6274003010 SPACER 2

1001 *** ok ***  Click for Technical Bulletin Y03858
1002 *** ok ***  Click for Technical Bulletin Y04657
1003 *** ok ***  Click for Technical Bulletin Y06152
1004 *** ok ***  Click for Technical Bulletin Y06152
5009 *** *xx ***  Click for Technical Bulletin Y06152
5015 6275001001 CONTROL LEVER ASS'Y 1

Page 6/6


https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y03858-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y04657-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y06152-WW-1.pdf

